
AP Calculus-AB       Name____________________________ 

Limits: Day 2 

 

Trinomials               x2 + bx + c 

Example:    2 7 6 1 6x x x x      

1.  2 2 35x x    2.  2 12 35x x    3.  2 10 24x x    4.  2 10 24x x   

 

 

 

Trinomials               ax2 + bx + c 

Example:    22 11 5 2 1 5x x x x      

5.  23 13 10x x    6.  24 8 3x x    7.  22 9 18x x    8.  26 4 2x x   

 

 

 

Difference of Squares 

Example:    16 4 4x x x     

9.  9x    10.  2 5x     11.  49y a    12.  16 1x   

 

 

 

Difference of Squares        “Soap” 

Example:  3 3 2 2( )( )a b a b a ab b      

13.  3 125a     14.  3 364 125a b   15.  3 364 125a x    16.  6 31 8a b  

 

 

 

Factor 

 

17.  3x2 + 15x + 12   18.  125b3 + 8   19.  c3 + c2 - 4c – 4 

 

 

 

 

20.  r2 – 14r – 72    21.  2x2 + 5x + 2   22.  m2 – 9 

 

 

 

 

23.  x2 – 64    24.  2x2 + 5x + 3   25.  7p2 – 4p – 3 

 

 

 

 

26.  3m2 + 11m – 4   27.  c3 – 27    28.  2y2 – 16y + 24    

 



Rationalize the Numerator 
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Answer key 
1. ( 5)( 7)x x    8. 2(3 1)( 1)x x   2 215. (4 5)(16 20 25)ax a x ax    22. ( 3)( 3)m m   1

29.
2 2x  

 
3

1
36.

a
  

2. ( 5)( 7)x x   9. ( 3)( 3)x x   2 2 4 216. (1 2 )(1 2 4 )a b a b a b    23. ( 8)( 8)x x   1
30.

3 3x  
 37. 1  

3. ( 4)( 6)x x   10. ( 5)( 5)x x   17. 3( 4)( 1)x x   24. (2 3)( 1)x x   1
31.

2 4 x 
 

12 538. nx y  

4. ( 2)( 12)x x   2 211. (3 )(3 )y a y a   218. (5 2)(25 10 4)b b b    25. (7 3)( 1)p p   1
32.

5 25 x 
 39. 3  

5. (3 2)( 5)x x   8 4 212. ( 1)( 1)( 1)( 1)( 1)x x x x x      19. ( 2)( 2)( 1)c c c    26. (3 1)( 4)m m   8 8 433. w x y  5

40.
6

t  

6. (2 1)(2 3)x x   213. ( 5)( 5 25)a a a    20. ( 4)( 18)r r   227. ( 3)( 3 9)c c c    10 534. m n  3
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7. (2 3)( 6)x x   2 214. (4 5 )(16 20 25 )a b a ab b    21. (2 1)( 2)x x   28. 2( 2)( 6)y y   
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